Walmart Part No. 100682487
Walmart Description

APPAREL DIGITAL TOWER

DISPLAY 48X19X120
Installed on T-system gondola LA Darling provided items
< 4” \
i
:\:\]
§ S g
| I.:‘ /
@/ :\1
] :
~
i '§ =~ m
u fl N .\
i i
0
0
I
—
Scan the QR code or visit
LAD DESCRIPTION www.ladarling.com/digital-tower/ for the
L ADARLI NG DIGITAL TOWER DISPLAY latest copy of the instruction sheets.
° ‘ LAD PART NO. REV. BY | DATE PAGE

MARMON RETAIL SOLUTIONS — BERKSHIRE HATHAWAY 3543961S 1 RP 6/5/25 Customer Service 1-800-682-5730 10F5



Step 1: Install hangbars in locations shown below.

hangbar
Step 2: Slide mounting plate behind hangbars so that it hooks over the second g

hangbar from the floor. Position it 7 1/2" from the right end of the hangbar.

Note! Electrical wires are not shown in these views.
Step 3: Install USB breakouts and mains inlet on mounting channel.

A

Step 4: Attach tech stack box and mounting channel to mounting plate with #8
Screws.

5=

A\

34"

mounting

tech stack box——
channel I

* S

J

A S

71/2"

25"

mounting plate

|/
-

8 15/32"

LAD DESCRIPTION

I_.ADARLI NG DIGITAL TOWER DISPLAY

LAD PART NO. REV. BY DATE .
MARMON RETAIL SOLUTIONS - BERKSHIRE HATHAWAY 354396IS 1 RP  6/5/25 Customer Service 1-800-682-5730 ZPS?:E5



Step 5: Mount 85" TV to mounting frame with M8 screws. Step 7: Hook IR camera and housing into front of camera mtg bracket kit.

Step 6: Hang TV and mounting frame onto top three hangbars. Step 8: Route IR camera USB cable throught mtg bracket hole, and along mtg
Snap button will lock TV frame to lower hangbar. bracket. Attach bracket cover panel over USB cable.

. Step 9: Hook camera mtg bracket kit into upright slots approx. 64" above the floor.
mounting frame

bracket cover panel

IR camera and housing— &l

mtg bracket hole

camera mtg bracket kit

Ly, —

shap button

LAD DESCRIPTION

I_.ADARLI NG DIGITAL TOWER DISPLAY

LAD PART NO. REV. BY DATE . PAGE
MARMON RETAIL SOLUTIONS — BERKSHIRE HATHAWAY 3543961S Customer Service 1-800-682-5730

1 RP 6/5/25 30F5



Step 10: Assemble LH and RH tower channels with two 1/4"-20 screws, each.
LH tower channel

Step 11: Hook LH and RH tower channels onto hangbars.

—RH tower channel

upper LH tower channel

1/4"-20 screws

lower LH tower channel

LAD DESCRIPTION

I_.ADARLI NG DIGITAL TOWER DISPLAY

LAD PART NO. REV. BY DATE .
MARMON RETAIL SOLUTIONS - BERKSHIRE HATHAWAY 354396IS 1 RP  6/5/25 Customer Service 1-800-682-5730 4PS?:E5




Step 12: Insert top rail into slots on LH and RH tower channels. Secure top rail
to tower channels with a TEKS screw on each end.

Step 13: Attach presence sensor to bracket at front of base with #6 screw.
Slide bronze acrylic cover in front of sensor and secure with #8 screw.

Step 14: Slide base back so that base hooks lock into bottom slots on
uprights. Ensure that levelers on base are touching the floor.

Step 15: Attach cover panel with magnets to LH and RH tower channels.

\

Al

bracket
cover panel with
magnets T—

"R | presence sensor

—

#8-32 screw #6 screw base hook

LAD DESCRIPTION

I_.ADARLI NG DIGITAL TOWER DISPLAY

LAD PART NO. REV. BY DATE .
MARMON RETAIL SOLUTIONS - BERKSHIRE HATHAWAY 354396IS Customer Service 1-800-682-5730 5PS?:E5

1 RP 6/5/25




